HepmiErE2mlE (20 2) TR ( ) A (

[1] @TDEESBBICLT, 2K y=x" DY T 7 ENERS, @) y=x"-2¢-3 @) y=x"+6x+10
xf | -3 -2 -15] 1] -05] 0 |05 | 1|15 ] 2
y| ] 9] 4]22 025 | 0 |025 2.25 9
Yl
: 24— 125410 % alx— )+ q OITETB L ET,
2x%—12x+10
A =2(x*—62) +10

=2{(x—3)%-34 +10
3)2—2%x3%+10
3)2-8

X

=2
=2(x

@RDZEDL M TTEDLEEANRS W,

2224 16x =2(x2+8x)
Q@KRD2IRMBD T T 7 n&inE W, Fiz, TOETEHSAEZEZRIWN,

1) y=(x—2°+3 @) y=2(x+3)*-2 =2[<x+|:|>2—|:|2]
e ][]

@K D 2 W% y=a(x—p)2+qDIBIT L7 E L,

1) y=2x’—4x 2) y=3x"+12«x
y y
T s
1 : o |
(3) y=4x>—8x+3 (4) y=32"+6x—4
-10
@) y=—(x+1)2+2 @ y=—(x—1°-3
@D 2DV T 7 HnEpE W,
Fiz, TOMETEREEZREI N,
1) y=x>—6x+8 (2) y=2x%48x+45
y y
1
—1
" [0)
—10[ N1
y=2—6x+5 % y=(x— O+ 0 OBICEH L ET,
y=x2—6x45
=x2—-2x3x+5
=(x—3)2—3245
=(x—3)%—4
B) y=—x"—2x+4 (4) y=—2x>+4x-5

@RDZEDL T TILE DA AN SV,
224 8x+5=2"+2%x4x45

:<x+|:|>2—|:|2+5
([

@D 2 WPk E y=(x— pP+q DIHIT LIRS,
1) y=x"—4x—6 2 y=x+12x¢+1




BEAMERE2RA (202)

FREE

A

[6]8 2kHfd x*+3r—10=0 ZMET,
FEi 1%+ 32— 10 ZRERS 5 &

(x+5)(x—2)=0
LoT x+5=0 F72ix x—-2=0
L7z~ T, f#I% x=-5%L x=2

ORD 2 WG E T IS,
1) (x+6)x—3)=0 2)

(3) x*42x—35=0 (4)

@D 2 I FEREMRE RSV,

1) (x+1)x+8)=0 2)
(3) x*4+x—20=0 (4)
(5) x*—81=0 (6)

ORD 2 WX EMRE/RE W,
1) x*—4dx+4=0 (2)

@R D 2UWITRRREMRE ISV,
1) x*—2x+1=0 2)

WO 2WITRAEME RS,
(1) 3x24+52—1=0 @

@mE (1) oOAXT, a=3, b=5, c=—-1 L75¢&

—5++/52—4x3x(=1)

2%3

x=

@D 2 W FERERE RSV,
(1) x*45x+3=0

2 +8x+7=0

(3) 3x2—Tx+1=0
22—9x=0
22 —4x+3=0

(5) x*4+2x—1=0
22—T7x—18=0
3x2—x=0

[9] @D 2UFFAEME IS,
1) x*4+7x+12=0

22410x4+25=0

(3) 2x°+5x=0

224+ 14x+49=0

3x2—2x—4=0 (6) x*+6x—7=0

@) fROANNXT, a=3, b=-2, c=—4 LT 2L

_ =(=2)+ V(=2 —4x3x(=4)

_ —5+/25+12  —5+./37
6 G

* 2%3

244448 2+.52
6

6
_242/13 _ R(1+/13)
=S2 -

63
_1+/13
R

2)

@

©6)

@)

@

©6)

224 x—-5=0

4x’—x—2=0

3x2—8x42=0

22432 +1=0

22 —6x+3=0

2424 3x—4=0



